Seat No.: Enrolment No.

GUJARAT TECHNOLOGICAL UNIVERSITY
DIPLOMA ENGINEERING - SEMESTER — |11 « EXAMINATION - WINTER 2017

Subject Code: 3330605 Date: 15-11-2017
Subject Name: Surveying
Time: 10:30 AM TO 1:00 PM Total Marks: 70

Instructions:

Attempt all questions.

Make Suitable assumptions wherever necessary.

Figures to the right indicate full marks.

Use of programmable & Communication aids are strictly prohibited.
Use of only simple calculator is permitted in Mathematics.

English version is authentic.
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Q.1 Answer any seven out of ten. €2l SlEUBRL Ulctotl scllol AL,
Enlist types of offsets. Explain any one in brief.

WAool YsIR SRUALSE URL As gsHL AHdl.

Write in brief the use of optical square & line ranger.

ysi(@a Q10 daul Al ool GUAL &5HL AW,

If RF of scales are 1:150 & 1:1000 ; Find scale.

ol Woll AR YRS 1:150 &l 1:1000 8l A Aol WE N,
Explain plane survey in brief.

gs vl wmesal : g udeawl .

Write the function of sun glass & lifting pin in prismatic compass.
QRdls sUA HL Aol ol dal dlgglol Mot of sl AWl
Define: Fore bearing & back bearing

cquRdl AU : wd) ARlaL e ur Alal

Define : Level plane , Datum

cqluAl WU : AHAA AU, eyt da.

Explain Fly leveling in brief.

SAlA ARl 5 HI UMl

Write the use of Alidade & U-fork in plane table survey.

AU ddeal AU@A3s dal Y-l sl Guaoal AWl

© O 06 NWw o £ X AW oLwAOADND O E

o

10.  Write two characteristics of contour.
0. 5022 ol A cllal@s Al sulLal.
Q.2 (@)  State the purposes of Surveying

Ys.R (1) Adeaell sl welal.

OR
(@) State the use of field book. Draw a typical page of the field book.

1) $les ofs oll GUAlaL WRUALSIES ofs of WS olyell3U Ulg ER.

(b)  State the methods of chaining on sloping ground. Explain direct method in
brief.

() alaatofl wHlot Gur HURlell Al weudl.auisll et Huell «

At &5 UL AHesAl.
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OR
On a map drawn to a scale 1 cm = 50 m a surveyor measured the distance
between two stations as 3500 m. But it was found that by mistake he had used
a scale of 1 cm =100 m. Find the true distance between the stations.

As 1 AL = 50 Hl. Bl Rl aisal ol Al R3ot o] AR
3500 Hl. ®. clleml Ag HgH usy 3 R el 1 A+ = 100 Hl.

oll 3B cluAl ecll. A WAL ARAo] ALY R 2.

A traverse ABCD is made in the form of squar in clockwise order. If the
bearing of side AB is 120° 30" ; Find the bearing of the other sides.

A5 AR™U HIARWEL ABCD ol sud U ulSaumnett sietell (8 2uni
sallHL Al %1 AB uilell Ao 120° 30 8l Al Aeoll citsledl vt

(|l Aol e,

OR
The fore bearings of sides AB,BC,CD & DE of an an open traverse ABCDE
are 45° 30', 120° 15’, 200° 30, & 280° 45’ respectively. Find included angles
B,C&D

oSl As YCAL HIARWEL ABCDE ol ¢llyl AB,BC,CD ol DEs{l )
Aol s@s A 45°30°, 120° 15, 200° 30", wal 280° 45 &2l Al Asil
URU B,C el D of HIU 2L,

Explain Surveyor’s compass with neat sketch
AR SURL ofl a9 gl €131 qnesal.

OR
Explain “closing error” with necessary sketch.

33| Algcll €131 MUt (2 AU

Explain :”Magnetic declination”
UMl JYusla [ sulasial,

OR
Draw the symbols for any three: barbed wire fencing, pond, tree, grassy land,
pipe line

18 URL 2Bl ML sl ERL.cRa{l aUus, doua, RBLS, Uldle] NEld,

usu clget

The length of a line measured on a slope of 15° was recorded as 550 m. But
it was found that the 20 m chain was 0.05 m too long. Calculate the true
horizontal distance of the line.

A5 15%0ll @lon GUR HAC ul of 1w 550 Hl. &.ud Huell 1t
auRlAd Uisn 0.05 Hl. auR dioll ¥RUAA. L of WY &A% idR

nul.

OR
Draw a graphical scale for 1 cm =50 m ; in which it is possible to read upto
1m.

1l yellog 1w aill a8 Al 1 A.HL=50 {l oA 2 glsct Wt €A,

State the principles of survey & explain any one.

Udetalell Reauidl wlLal; dal o A As AHstAl.
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OR
Differentiate: Rise-Fall method & H.I. method to calculate R.L.

AR AA elcloll ABB- S ol I et AU U ol Ild cRAA

dastald el
Explain temporary adjustments of level.
Ad oll SoUHl MR YHAL.

OR
Draw a neat sketch of Dumpy level & label component parts on it.

Sl Qactall e wgcl €131 A GUR Aoll @UdLetl ol AW,

Define: (Any three) Back sight, Change Point, line of sight, Axis of bubble
tube.

oA A AL ofl cautunl W : uslaAdset (e (olg,
G(RIUL, LA S0l el

OR
Write uses of levelling.
dAell ot Ul AW,
Explain:”Profile leveling”.
JURUL A&l Al

OR

Explain contour interval. Also state the factors affecting it.
AU UL A ARIA AHA AL Aol AR Sl Hall R,

The following successive readings were taken with a dumpy level along a
chain line at a common interval of 20 m. The first reading was taken on a
chainage of 140 m. The R.L. of second change Point was 107.215 m. The
instrument was shifted after 3" & 7" reading. Calculate the R.Ls of all the
points.

3.150,2.245,1.125,3.860,2.125,0.760,2.235,0.470,1.935,3.225 & 3.890 m.

As Sl Aad a3 As Aisn il GUR 20 Hl ot oud {lAsl 5@
clUatisl Acltml el uge 3slot 140 Hl ot Asaid Acum
e oflost (Bauoted (Ol of AR AA. 107.215 Hl B. AUltotal Alost

Al UldHL STt Uefl WASAHL 1. €35 (Glgoll wIR. AA L.

Write short note about segments of GPS

&5 olltl cAul: 2. YL A™Y ol ol

State the instruments used in plane table survey with it’s use.
AHUR ARl Hi duRldl Aol deotl GuAdL A Rl
Write applications of GPS

o). Y. AA oll GUAN AL

State the advantages of plane table survey.

AHUR Adeotell slaAelAl sl
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